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code : 10-1.py
X = 1nt(input("Enter a number: "))
reciprocal =1 / X
print("The reciprocal of", x, "is", reciprocal)

code : 10-2.py

try:

X = 1nt(input("Enter a number: "))

reciprocal =1 / X

print("The reciprocal of", x, "is", reciprocal)
except ValueError:

print("Not a number.™)
except ZeroDivisionError:

print("The reciprocal of 0 does not exist.")
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code : 10-1.py
X = 1nt(input("Enter a number: "))
reciprocal =1 / X
print("The reciprocal of", x, "is", reciprocal)
code : 10-3.py
while True:
try:

X = 1nt(input("Enter a number: "))
reciprocal =1 / X
print("The reciprocal of", x, "i1s", reciprocal)
break
except ValueError:
print("Not a number.")
except ZeroDivisionError:
print("The reciprocal of 0 does not exist.")

break
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code

: 10-4.py

while True:

try:
X = Int(input("Enter a number: "))
reciprocal =1 / x
print("The reciprocal of", x, "is", reciprocal)
break

except ValueError:
print("Not a number.™)

except ZeroDivisionError:
print("The reciprocal of 0 does not exist.")
break

except:
print("Unexpected exception occurred.")

break
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code : 10-5.py
while True:
try:
X = 1nt(input("Enter a number: ™))
reciprocal =1 / X
print("The reciprocal of", x, "is", reciprocal)

break

except ValueError as message:
print(message)

except ZeroDivisionError as message:
print(message)
break
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code : 10-3.py

while True:
try:
X = 1nt(input("Enter a number: "))
reciprocal =1 / x
print("The reciprocal of", x, "i1s", reciprocal)
break
except ValueError: code : 10-6.py
print("Not a number.") 1| while True:
except ZeroDivisionError: ! try:
orint("The reciprocal of 3 X = 1nt(input("Enter a number: "))
break 4 reciprocal = 1 / X
5 except ValueError:
6 print("Not a number.™)
7 except ZeroDivisionError:
8 print("The reciprocal of 0 does not exist.")
9 break
10 else:
; 11 print("The reciprocal of", x, "is", reciprocal)
12 break
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code : 10-3.py

while True:

try:
X =
reciprocal =1 / X
print("The reciprocal of
break

except ValueError:
print("Not a number.™)

except ZeroDivisionError:
print("The reciprocal of
break

int(input("Enter a number: "))
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code :

10-7.py

while True:

try:
X = int(input("Enter a number: "))

reciprocal =1 / x

except ValueError:
print("Not a number.")

except ZeroDivisionError:
print("The reciprocal of 0 does not exist.")
break

else:

print("The reciprocal of", x, "is", reciprocal)
break
finally:

print(":-)")
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code : 10-8.py

def fac(n):
ans = 1
while n > 1:
ans = n * ans
n=n-1
return ans

code : 10-9.py

def factorial():

n = int(input("Enter a number: "))

print("factorial (", n, ™) =", fac(n), sep="")

l code : 10-10.py

def factorial():

n = int(input("Enter a number: "))

assert n >=1

print("factorial(", n, ") =", fac(n), sep="")
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code : 10-10.py
def factorial():
n = int(input("Enter a number: "))
assert n>=1
print("factorial (", n, ") =", fac(n), sep="")
’ code : 10-11.py

def factorial():
while True:
try:
n = int(input("Enter a number: "))
assert n>=1
except ValueError:
print("Not a number.")
except AssertionError:
print("Not a natural number.")

else:
print("factorial(", n, ") =", fac(n), sep="")
print("Goodbye!™)
break




pp.474~476

7.278 A &A% 2§ S comb_pasca1—% ARESEe] 23 o] F AASF n
S 7|RE dgitol C& Al TAESF= T2 1S 2HJskA}, o] 21
2 APFoA 7| HER T3} Zo| AF3HHA] 23l of s

“—

- L2 AP WA TS F F L WP TAEH,

This program computes combination of two natural numbers, n and r.
Press Control+C to quit.

« 1230 n @ r ghS SHA The o) FIR s 9 vt

Enter n: 6
Enter r: 4

&7)A] Enter n:Z} Enter r:& APA o HAF= HA|X|o|aL, 63} 4= 7| H.
= dgolt




pp.474~476

« 7|HE Q=

of|e]7}

T, o] B o

A et

Must be a number.

o] A7t obd 7% int T E EFY ¥ I ollA] valueError
|2] 2 2ate] TR} o] HIA|R| & Aol Z2sH

e n 3% r gkol 0 o]/do] of AU r Zho] n ET B 22 H ol gl
o] 74-¢- assert = 83} AssertionError 2]

o] g} 28 YAlo 2 WA E ST Felx

4C6 i1s not defined.

H

i

=,

—

A7), o Hels}
Q)2 ket




pp.474~476

<7 \S

A7A g Al MY A 16

 comb_pascal(6,4)E TE3 AYE U 22 402 AR ZTHE
gkt

6C4 = 15

* n 4T r S 71 HECA fEibo}l X3hS AlAtsle] ZRES|T= AYS F&
g WHEE

« AREAL7} Control+C 715 FA0 T2 tha< A3l Z-ESIL 22
= 353}, (KeyboardInterrupt ¢|2] x4 2| &)

=

Goodbye!



CHAPTER 10

02| X2l

10.1 LHE of|<
10.2 0|2 x2| Mo A=
10.3 assert =

v 10.4 AREX} e of|2]




0f|2] HO| =P 1

o] 2y —p

O 00 N O U1 A W N

=
o

0ll2| X2| m—) 11
12
13
14
15

16

A EX} B2 02
User-defined Exception

code :

10-12.py

class NonPositive(Exception): pass

def factorial():

while True:
try:
n = int(input("Enter a number: "))
if n < 1:

raise NonPositive

except ValueError:

print("Not a number.")
except NonPositive:

print("Not a natural number.™)
else:

print("factorial (", n, ")

print("Goodbye!™)

break

, fac(n), sep="")
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